22/06/16
THM 243 Rooms Division Management

Midterm Exam Answer Sheet
1. What are the characteristics of an objective? Why objectives need to be meaningful? (2 Points)
The characteristics of an objective are as follows:

· Specific

· Numerical

· Measurable

· Achievable

Objectives need to be meaningful as they need to be prepared in harmony with company’s mission statement.

2. Briefly explain how can job descriptions be used as to prevent job duplications? What is the danger behind having job duplications? (2 Points)

Once companies have job description of each position, they can analyze those very descriptions and make sure there is no task / subtask in one position that repeats itself in another position. Moreover, if job duplications exist, then the responsibility of doing that duplicated task / subtask is lost between positions involved. This is dangerous because eventually no employee would care to perform that duplicated task / subtask in question in the way management expects. This certainly would create numerous complaints on the matter as well as guest dissatisfaction.
3. What are the advantages of repeat guests? What shall hotels do to attract repeat guests? (2 Points)

Some of the advantages of repeat guests are as follows:

· Good word of mouth
· Free of charge advertisement
· Loyal customers
· Easy to convince when negotiating room types / prices...
· A valuable source that helps to solve some of hotel’s problems (ex. Overbooking)
Moreover, hotels shall strıve to attract repeat business by:

· Have a mission statement that clearly promises to give value for guests

· Preparing objectives, strategies and tactics that serve the mission statement
· Providing goods / services in a timely and accurate manner
· Being sensitive to guest needs (listen to them and promptly assist them)

4. What are the advantages that hotels, operating under semi-automated system, enjoy at pre-arrival stage of the guest cycle compared to hotels, operating under manual system? (3 Points)
The advantages that hotels, operating under semi-automated system, enjoy at pre-arrival stage of the guest cycle compared to hotels operated under manual system are as follows:

· In order to reserve, guests can either call a national reservation network or directly contact the hotel → more potential business.
· Reservation confirmation of all potential guests → minimize possible conflicts and misunderstandings between hotel from one side and potential guests from the other.
· Pre-registration of all potential guests (i.e. Prepare pre-registration records, open guest/master folios and information rack slips) → speed up registration process.
5. Provide any 2 examples for which hotels can register guests without having a front desk (i.e. in a deskless environment)? (2 Points)

Some examples for which hotels can register guests without having a front desk are as follows:

· Through self-check-in terminals.

· Having a hotel greeter register you in the lobby area while guest is enjoying being seated and drinking his cocktail.

· While a courtesy van driver is driving guest to the hotel, he /she would check credit card validity (to establish credit for that very guest), hand in pre-registration record for eventual signature, and hand him / her electronic card key. This way, the minute guest would arrive at the hotel, he / she would directly be escorted to his / her room.
6. Gönül Holiday Village agrees to allot Gökhan Travel Agency 10 Single, 25 Double & 8 Triple rooms for the period running from 15/06/2016 (Wednesday) till 26/08/2016 (Friday) for each Monday & Sunday arrivals for 4 nights. According to the allotment contract signed between both parties, Gökhan Travel Agency has to send its final list latest 5 days before actual arrival of any group.
a) When is the first group estimated to arrive to Gönül Holiday Village? (1 Point)

The first group is estimated to arrive at Gönül Holiday Village on Sunday 19/06/2016.

b) When is the cut-off date of the first group? (1 Point)

The cut-off date of the first group is on Tuesday 14/06/2016.

c) Suppose, by the cut-off date of the first group, Gökhan Travel Agency communicated a Final List showing a need of 7 Single, 22 Double & 7 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Number of rooms initially allotted = 10 + 25 + 8 = 43 rooms.

· Number of rooms requested (Final List) = 7 + 22 + 7 = 36 rooms.

· Number of washed out rooms = 43 – 36 = 7 rooms.
· Wash out factor percentage = (7 / 43) * 100 = 16.28 %.
7. How can “Method of Payment” conveyed in the registration record determine the POS status of the guest? (2 Points)

If the method of payment conveyed in the registration record is “Cash In Advance”, then guest in question is a Paid In Advance guest (i.e. a guest without POS status). Otherwise, any other method of payment would imply that said guest is a guest with guest charge privilege (i.e. a guest with POS status). 

8. What might be the 2 reasons (under manual system) of the room status discrepancy where housekeeping department marks a room as vacant whereas front office department marks it as occupied? (2 Points)

Under manual system, the 2 reasons behind the room status discrepancy where housekeeping department marks a room as vacant whereas front office department marks it as occupied are:
· Sleeper situation (i.e. guest has departed from the hotel yet checkout clerk forgot to remove room rack slip from room rack to indicate departure.

· Skipper (i.e. guest departed from the hotel without informing checkout clerk and without paying for his / her net outstanding balance)

9. What is the difference between “Adjoining” and “Adjacent” rooms?  (2 Points)

While “Adjoining rooms” are rooms with a common wall but no connecting door, “Adjacent rooms” are rooms close to each other, perhaps across the hall.

10. At Gomez Hotel, Mario has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 3,650.14
- Food Charges


$ 1,050.36
- Beverage Charges


$ 375.50
- Telephone Charges


$ 99.75
- Extra Charges


$ 15.25
- Payment (During Stay)

$ 480.00
- Guaranteed Reservation Payment 
$ 584.00
Upon thorough analysis of his expenditures, Mario objected the high beverage consumption. Gomez Hotel’s cashier checked again the beverage vouchers and found that Mario was 20 % overbilled (this error was due 2 days ago). The hotel corrected the posting error and presented the folio to Mario for signature.

a) What supporting document is needed to prove the correction of the posting error? How much (in US Dollars) should this very document include? What is the effect (i.e. Debit or Credit) on the folio’s net outstanding Balance? (2 Points)
Since the posting error is detected and corrected after the closing of the business day, an allowance voucher is needed to prove the correction of the posting error. Moreover, the amount of allowance voucher shall be $ 75.10 (i.e. 20 % * 375.50). Lastly, the effect is a credit (i.e. decrease) on the folio’s net outstanding balance.
Suppose that Mario decided to settle his guest folio, 60 % by cash, 20 % by personal checks and the remaining by Special Programs.
b) What is Mario’s Net Outstanding Balance? (1 Point)

· Net Outstanding Balance = Total charges – Total payments = (3,650.14 + 1,050.36 + 300.40 + 99.75 + 15.25) – (480 + 584) = 5,115.90 – 1,064 = $ 4,051.90.
c) Journalize the zeroing of the guest folio. (2 Points)

Dr

       Cr.

-------------------------------------------------------------------------------------------------------------


Cash




$ 2,431.14


Personal Check Payment Account
$ 810.38

Special Program Payment Account
$ 810.38





Guest Account

$ 4,051.90
-------------------------------------------------------------------------------------------------------------
d) What are the supporting documents needed as to close properly Mario’s folio? (1 Point)

· Cash Voucher ($ 2,431.14).
· Personal Check Voucher ($ 810.38)

· Special Program Voucher ($ 810.38).
· An invoice ($ 4,051.90).

11. Arslan Hotel consists of 300 rooms. Mr. Tolgay has been newly hired for the position of an Assistant Reservation Manager. He is supposed to calculate how many rooms Arslan Hotel needed to overbook for the night of July 29th 2016. 

Mr. Tolgay was given the following information at hand, both updated and concerning the night of July 29th, 2016: 
· Number of rooms reserved: 


230 rooms

· Number of rooms occupied by stayovers:
60 rooms

· Forecasted No-show Percentage:

2 %

· Forecasted Understay Percentage:
 
1 %

· Forecasted Overstay Percentage:
 
5 %

· Forecasted Cancellation Percentage: 

3 %

· Expected Out Of Order Rooms:

2 rooms
Suppose you are the Rooms Division Manager in Arslan Hotel. Since Mr. Tolgay is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Tolgay to come up with:
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (4 Points)

· Total number of rooms expected to be occupied for the night of July 29th, 2016 = 230 + 60 = 290 Rooms
· Adjustment due to no-shows  = - 2 % * 230 = - 4.60 Rooms
· Adjustment due to understays  = - 1 % * 60 = - 0.60 Rooms
· Adjustment due to overstays  = 5 % * 60 = + 3.00 Rooms
· Adjustment due to cancellation  = - 3 % * 230 = - 6.90 Rooms
· Total adjustment = - 4.60 – 0.60 + 3.00 – 6.90 = - 9.10 Rooms
· Total number of rooms expected to be occupied for the night of July 29th, 2016 (after adjustment) = 290 – 9.10 = 280.90 Rooms
· Total number of rooms available for sale for the night of July 29th, 2016 = 300 - 2 = 298 Rooms
· Maximum number of rooms to be additionally reserved for the night of July 29th, 2016 = 298 – 280.90 = 17.10 Rooms
· Total number of rooms expected to be reserved and occupied for the night of July 29th, 2016 = 290 + 17.10 = 307.10 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 290 + 17.10 – 298 = 9.10 Rooms.
c) The overbooking factor? (1 Point)

· Forecasted Occupancy Percentage = 307.10 / (300 – 2) * 100 = 103.05 %
· Overbooking Factor = 103.05 % - 100 % = 3.05 %.
N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.

GOOD LUCK!
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